
1>
\ßr

,ì'"'o)

ç,= h ìf*l"@usq

ç, = f, þr¡FaÀ

"t#ff.r

o*h r æ,j À "îr[,.rt

ç.t-xe tpTx zæfr,r*ro?

fl

8l-.Få rll

rcla>"ra4 q- A

(CI'?l
4=x
ÇJ¡s Y$r.

$= (,r]å + xt'
'n)

Ët

ñE

+-(

51st

(

3o

.l

9- *rb

@,,r* *
z*.1,.7r*

\

@

(F
þ*a) z- v-

-{
.'uÉþ..GÅ)

zxþ - ¡ãl

k-

4l'
i#\ (r

3

qI
a

I

#þs Èl1, jl} = -I:3s t
*:\7T/¿

$
(

æn s (Í)J @

eæ
þt-

.,*?rr f'.,f dlo{ "* 
(otE) aqt

c,+ (Ê-xlv Ë
È'þ

f-

ç+++--x)

+- E+vþ = t ? ç" $b?)e =fl

# I"a¿

(i)
1

{- ¡l *r1

E_Ë fi

'Þ.s'l?:'
(o',t

L,fi qx -ül s

flr*fr,Rr*ù (r
^îa¡gll--
{,9;$+) =

lþÐþ'

*rxh =

fi (s'ø¡ (Ð

¡XQl =
hY"l =

u(xz) t"(

qø\
V.

-t1Y'ft

ON

(? @



| = bz-5*-12

@ qflü#nh***
2;' 5x -12 =o
(u+a X" .{ )'o\¿ \

4'f'+1=Ô

¡ = -r5 x=4

(-r¿ o) oJ (q,u)

rMz tÈæ- *he- q,.Åeo*t'¿-
4oc ntu14-

l"= -5 c= -\Z

-('ç) È (ç )z-¿l CzYn)

2C-z )

n -1.

Cl= 1-

x=

X
I 5!(

4

a=Ç
tl

*I,{rb
a

rs
Ks ul\=

H ll
tqn^e-

@)
.(- infancePl (æt Y=o) 

.-)

) -intr*cefi (** ¡=c>)

S(x) *- rJtní

!ffi =o
X'15 =o

fo -5

(-s, o )

up
$= ìlæ-

6
(o, {4)

ùr¿ con+cr sl tro oÌrcl¿ ohaulø frant@"oJ à fr,-?)
*h¿- rad t.r ùtanç Srovæ 4 +6 G

¡ Grr*) so +Ìr¿ trarøbr ,rrd cquotfod þ f = (r+tf-s
¡rcl¿) vwù2tt 6

,{ (x-r)^ + s =J
-a -S

{-5?

v
{-3 = *

\+
4 (r-t) *s:

(s -?)" =

I
r
5 -5

¿{

*tuä'däbd+1

{

r¡hich' b
'htÞ ll¡notr'oÑ



@ x
-x

âQ
î(

.-5-g (\+

-\= c-

"ú+z)

div

e) = 6'?<

lù-by-n

\+? 3 e -å
S+¿ = 

rL,+å"

S= å^ 
.*4

+5
'5

ãq*trla- Þo$ =ttJøi

ix

-5)'

a+b2

ï

U -5,tT

)x

{=

0..')" p,,rlår¡ìv bv 2

r)

deb 6{,-\
---- \if

ñ

.{y
xf@DF. 3o

5

@'=5
5

rnttttrP\¡r bY Y

pil,ti'; - '55

(ffi
5

I x3

p{"1.
\

6 dù4
Ê*

4 al3

6xa -K-1
X -4x-21

a.a

K
ñ?

9 ôr 9x-!çs

+Js e xz+ Q-#=4
( g-a)a ^ ') -f

v- r

{-4x+7 lffi
\6tó sS $oct"r îvg dn'',,ló l''¿\P

Ã-\ ) , (4t1, -.Z\Q-x+t \

5 -? = È\{æ >w ' (x-r)3+3(x*t )

i¡,) (x,-r( a
V= J X

x-lXx--r)

4-# +3

(t \-ù 2x+t)

+t



n + ,) + 3(ç) + U)
x (5J 4¡)

q0+

r5 + LIK*-\.
5X

+

+ (rÔ +4<

$¡¿ aofvìm *, &vtdj"írrut9f
r¡itt be 6'X ^Wfåu

t-.; d..d

x5

\-c- x-4
X+:

a(-Ò ("-à

(x6

jo#'#[T#*.

xû

X -1

åøre$

2"!+Lu)x4xØ
'ID¿-

(+9

(K-iKr-aþ (x -rÏxnr)
( x+:) ( x-n)

f-%x&+b - (x'*9<-'k-2o\

(xú )(x-e\

.Ì 5x+l' -Á+zo
(x +rYr-z)

-(oX +llo

,(/ ffi M.#Ð
tk)+

Lw

ztlx

2w

'U>x

+læ
?,Ó.x

4!+ t>

<K



ïtt,''r^"

:4
o)- X

At= X%

Q, ,= Xþ + Xl1

olr
C*+ lv

Qî- = En?rf * 9-=X7,

är-=*w

b,=X'[t

avrx?
t- Àîrr$.

NÉ*;*q"ø
zt-
n Þ* ?,;

Ll-
-Tl

*L3 ã- = 5-\-
zl*- L*Yh

t-L = X8

g+Xß = Vh

ç+E= Ç.+Yi--t¡
(r+x)g = ú,* g-h)ø

\

çwÇ=n" +

sr 411v Å1d;ç1n'u

T@
rf,

È
b+ l-

'Lb+ l-
b', '

lef+ F =I

(n)z
s-ñr) t* - -( 

r )( r \')-
S-=Ð I =q h þ

ç-y+Jt¡ = 0 '.

äx+l '= x-cj
-{ âu,

qsq aupnbe Ê
v

e

9b=-=!

l."f]s fi: Y*9 rx + x-h



(,x -4 = 
lZ Y-5.

-13r,4$'-,* QN ^u{ = l2

4x, = tb
K=f

T4l

x-5

¡-$ -" tg

V =tf

41b

r *fr=-,l

Y -4 þ,rr*.mg
7

-ffirr'll ï,'ll +eat a çolrtbøwrørn t{*t, X=ô

I o-ul > 13

5 >t9
so.lçr-4b\-1 â tz

-1 312
+îúe-

5þ\ -z(o) < t6
(>1to
tnr¡c- '

æ+hü¿Ull'',u

aD

-í,

X4-B o( x ltg

V < O.öS 7(n

boundany ø'q(afio'J 6 I: , AÇx?

f 'll +eo*
(a,o)

1 ,/JriÑ

tntJ4

t8

40.q

â

xá8

bo,^nda¡/ equafibl)
SoruJx -2g< to

5Y-29=lo
-2\= -5/(+lÒ

r{ = *n -5

15 ô
I

\Þ
\!

J'tl +¿ót (O,o)

so d'eå b¿J¿t'


